EARAROBREBRT —5 XN—ZXBISH—F

202218188 (X) 2@I3EEE4H

N C3— USR4mtE BN R
[AE%) 1 &:500,000  ~ 237#&:200,000  337%&:125,000H  43#%&:75,000H 53 :50,000 ™
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~, 0 FHEFX : -1-1- - FAIRE (FEH)
1 3| TVI—ILI TR 4t 6 ) 1.(3_4).4 1-1-1-1 | 40.1 1 (423 A
RiF—FIT5v1 BOVI—IVT—U KBRS
—— =, — AR 134, = . - FashiE (EH)
218l9 | TATA=—LA e 56.0 (12314/2% Xrr2 403 3 (ﬁ FEAREIR
R:ivavFvhyF BRIVATAT4=— MER Y R
. SNEF : -3-3- - thixia (RHE
3070 7| arTEPUIR it 4 54} 1(73?:? 3-3-3-3 | 40.3 4 (4+527) /M%%ic( )
R:RwIA=FIII B:IVNATSAY ilIPN e
— 4 5 | IZHEEX 1:35.1 8-9-9-9 [39.9| — 2 468 | PiFE (EH)
4 4 Fa1—J)LIEE 54.0 (1 1/4) (-6) EAAR=
RiAAY3IVBLYY B:Fa1—)LITPUR AT
S~y o~ % 6 | BEXKX 1:35.1 6-6-5-4 | 40.2| — 8 43) | SETH (@R
5 6|7V L— 54.0 1) *2) BEFE.
RiPRIAVL—Y B:T5FV10 BRERS
. “— INBSEF . -5-6-| = IWWIEtE (EH)
sl5|s | Fae—0577 B g ha 1(.13/52.)2 5-5-6-6 | 40.3 6 (ﬁ:) el
RiIZANAFa1—)L B:7AE— AEHRIS
» W R R 1:35.2 9-7-8-7 | 40.1| — 5 501 | RHES (EH)
7)1 |EATURY ’ %.0 \F) @) | @ Ir—2hEvIy
R:PSUFURR B:R9—Lv b ke
s < P KLIBEAEB : -4-4- - FAIRX (RH)
8l7]8| FTU—Iv—=v B4 50 Gay | |0 T 5 |G
RFTU—I39Y B:FTU—TLAR BRI —L
S = sy REEN :35. -10-10- . - HENEE (k)
9 S | AAHTS5—Ta B 4 Nt (13315/25) 10-10-10-10 40.3 10 (4_420) E;}:Er:\u—r'
RIN=YISA B:O0AFILIU— #HBIT7—LA
=~ ) — 8 5 | ALEE 1:36.0 7-7-6-8 | 41.1| — 9 45 | =EBZ (BH)
10/8 10| F¥ ST A=T 5.0 (1) o |BHEE
R:IVHh—0 #B:55TILUE it
@ 11— —BERIEI
==h= 3,9,7,8,5,6,10,4,1,2
20— — 3,9,7,8,5,6,(1,10) ,4,2
IT=5r= 3,9,7,8,6,(5,10),1,4,2
41—7— 3,9,7,6,8,5,1,10,4,2
o ILRE
BB 3 130M9 JA R 3-9 220/ & 3-8 4704 3ER 3-7-9 1,240M
B B 3 110 3-7 340M4 5 & B20) 530 3Es 3-9-7 3,060
9 1509 7-9 760M oS- 1 3-9 650
7 150/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




